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1. éiﬁa‘iﬁ%@x +y - 7)dx + (x +y— 3)dy =0z @M (15%)

b eserky +4y +4=0 k¥ y(0)=32(0)=-1248 (15%)

3. %ﬁa‘i@;ﬁif(x,y,z)zxz+2y+z—34ti_$\ﬁx+y—z—1=0 » 0<x<1 0L2y<lz&#
2 (20%)

4. The Buler formula is given by e” = cosy +isiny, where i=~—1.
Find the value of e’ when y = — /4. (15%)

5. The Newton’s iteration method for a continuous and differentiable function fx) is given by

1= % —i'(ﬁ”—)— forn=0,1,2, ...
/()
(&) Find x3 for f(x) = x* — 1, with starting value xo= 0.5. (15%)
(b) Is the above value a good approximation to the positive solution of
x2-1=0 (5%)

[ X

6. A 95% confidence interval for a random variable x with a normal distribution is given by

CONF {(11~1.960/\Jn < x < u+1.965//n }

where 7 is the sample size, £ is the sample mean, and O is the standard deviation.
Use the above formula to determine the 95% confidence interval for 7=100, ££=6,and o=2. (15%)
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. AERERKEHNA  HRARBRTERZIAE - (10%) -

2. BROBNHHETEESKTRAABEHESARUALBBARTERZI L
K B RELEd - (10%) -

3. MREAEHARARSEY > LHBERALBLEDAREERE L
A - (10%)

4, BEEHTAEFSKBREEZLAFKREES 1200m’ s §AH—ERETEEF
HBF LAY —RE2FARERE AN RALREELZIYA -
(10%)

5. RRAMFET > LMHERALS PMys & PMyo 2ARRIE - (10%)

6. k3BT BODs » BOD, (£#% BOD) -~ CBOD & NBOD - it 4 B 2% 42
ZHzHM% - (10%) |

7. RRAEASEMMTZ REHS RN & TARSRY S BIHAR
THLEREYE EMTEZERFEMESFER - (10%)

8. WI|HEHEMAMS T ¥R AZ Monod equaﬁon S HE T2 2 H ST e
URAELEL - (10%)

9. KEEAZCZHABREFEANAKTRZRERBERERRS FARER
%% b % E S R E R R B AL RRALTHERE - (10%)

10. Set# TE RS LRMBFHMAZE | 08 TBQ &t I-TEF miRAXEAR L
SRRz AR - (10%)
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1~ (D)#EHa%HF X (Bernoulli equation) » FRAFEX FLEFHHEELR ° (8%)
(2)% 49 & (open channe) A N X MR K - BHM ETHAEHRE  ETHRARER
A% 30 em (RE 1) 2 Eakey (VS 3 misec - TaFay ik (V) 4 misec » 455
KB ETHEEKEN R )THAS D AR T (12%)

F ~7
Vi =3 m/sec V, =4 m/sec
Jiz —

@@W“\ R TR A7 = 30 om

! N ; T R
E3 &
2 EEAELE120mmeEHES FEARES 0.15m’/min > KR
) E R BRGES) - %)
()% 100m B R AEEE XL % ) N-m/sec ? (10%)
(2 EROBEMDS 20°C ZAHBEES 12kg/m’ > ZAHESHRFL)E
1.5X10°m%sec » At EMEE(E) S 11.82 N/m)

3+ MIELEES 10 um &9 BEMKAE » /%38 R 20°C 2 £, & 0 [ 49 43 % (terminal
velocity) & % 2 cm/sec ? Ei4n 2% A9 E G KB E L) H 1L.5X107 mYsec » ZAMEES
1.2 kg/m® » (15%)

4+ i (Pitottube » BB 2R REAAMRZ AR - AES 20°CEAFEES 1.20kgm’) »
B A% %R BR4EE kB 77 (stagnation pressure) $1#% & (static pressure)Z £ {8 % 10 mmAq
(mm AKAx) » RAEEAMZIERIRV - (25%) :

/ :10 mm 7KfE

o

2 f& ¥ % (Pitot tube)




cERNEE SV S TR T ES PR E
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MAPBRMEMZ "Tor, A M (B~ shaeRg) (B FHa #$2RB2R

S5~ —RFZBRE Mt E 3 KBE 20°C » AZFEE % 0.00100 kg/m.sec » 7kZ % B % 1,000
kg/m® » KB & #i(streamline flow) o 35 A KA L H B2 F Nm® - (25%)

—_— r— T T ——, T T

4 .
| V —> 20°Cifik
it A R *Q
BERE y (cm) K
-/ | BEHE Y (cm)

[ 3 }wfi:i/}i 5
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MARERMERE TR, ERAHES VR0 - e r#) (FEYRAE) HA1RF1R

L.

B AR AT 2 B BB TR E 55 % : Na'=5Smg/L ~ Ca”" =50mg/L ~ Mg”" =20
mg/L 3 B k4% 0958 B (2 mg/L as CaCO3 & 57), B.4n B -FE 45 & 23 ~ 40 ~ 24 - (10 &)

EHER I MESTXERBERE: (HUV;2)GC - (104)

BB TP RN — BB T A, B R AR E Fo M (Solubility Product) 47 X, iR B4 ¥
5 & UBAEE o (10 4)

KEBEAEBILE T R EF A EEGRAGRAT Yy H Wl ExHKE) - (102)
BAT G4BT RE T KR = S bm o8 a3 £ 2 /487 (10 2)
AL B=RERER  (65)

QL EHEBME=REEZRS - 62)

G)LEHERTIBENES - C )
RICRELABEMRENEZ N A2 — BHBIERAWZAXEZRT A ? IR
JE R Bk 7 (10 4)
£ — Tk F 4K e (Ca® =42 mg/L, Mg®* =27 mg/L) &R m #& 4 87 HCO5 = 196
mg/L, SO~ =15 mg/L, CI'=72 mg/L,NOs =5 mg/L) » At E L B L LRF 4 7 (15 %)

B EibE R Ry AR PN IR Tk — HHwWETARRER RN TR LEY
EACE - (8 %)




